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Question Number : 1 Question Id : 6801914492 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Basic principles of ecology are:

(A). All organisms and physical environment are interdependent with each other.

(B). Each organism has no limit of tolerance.
(C). The nature strives for greater diversity.
(D). The environment 1s holocentric.

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
3. (A). (B). (C) and (D).
4. (A). (C) and (D) only.

Options :

68019117501. 1
68019117502. 2
68019117503. 3

68019117504. 4
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019117501. 1
68019117502. 2
68019117503. 3

68019117504. 4

Question Number : 2 Question Id : 6801914493 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Arrange anatomical features of stem from surface to inner layers
(A). Vascular bundles

(B). Epidermis

(C). Hypodermis

(D). Thick cuticle
Choose the correcr answer tfrom the options given below:

1. (A). (B). (C). (D).
2. (D). (B). (C). (A).
.(B). (A). (D). (C).
.(C). (B). (D). (A).

e g

Options :
68019117505. 1

68019117506. 2



68019117507. 3
68019117508. 4

Question Number : 2 Question Id : 6801914493 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. (A). (B). (C). (D).
2. (D). (B), (C). (A).
3. (B). (A). (D). (C).
4. (C). (B). (D). (A).

Options:

68019117505. 1
68019117506. 2
68019117507. 3
68019117508. 4

Question Number : 3 Question Id : 6801914494 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Arrange growth stages of wheat from beginning to end of life cycle
(A). CRI

(B). Dough

(C). Flowering

(D). Boot

Choose the correct answer from the options given below:

1. (A). (D). (C). (B).
2. (A), (B). (C). (D)
3.(B). (A). (D). (C).
4.(C). (B). (D). (A).



Options :

68019117509. 1
68019117510. 2
68019117511. 3
68019117512. 4

Question Number : 3 Question Id : 6801914494 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019117509. 1
68019117510. 2
68019117511. 3

68019117512. 4

Question Number : 4 Question Id : 6801914495 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following activities in the chronological order of their starting year in
India

(A). Pradhan Mantri Fasal Bima Yojana (PMFBY)

(B). Production Linked Incentive Scheme for Food Processing Industry (PLISFPI)
(C). Pradhan Mantri Garib Kalyan Anna Yojana (PMGKAY)

(D). Pradhan Mantri Matsya Sampada Yojana (PMMSY)

Choose the correct answer from the options given below:

1. (A). (D). (C). (B).
2. (A). (B). (C). (D).
3. (B). (A), (D), (C).
4.(C). (B). (D). (A).

Options :

68019117513. 1
68019117514. 2
68019117515. 3

68019117516. 4

Question Number : 4 Question Id : 6801914495 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (A). (D). (C).(B).
2. (A), (B). (C). (D).
3.(B). (A). (D). (O).
4. (C). (B). (D). (A).

Options :

68019117513. 1
68019117514. 2
68019117515.3
68019117516. 4



Question Number : 5 Question Id : 6801914496 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Planning Commision divided India into how many agroclimatic zones?

.62
Wl Ex
. 126
4. 67

Options :

b =

L]

68019117517. 1
68019117518. 2
68019117519. 3

68019117520. 4

Question Number : 5 Question Id : 6801914496 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

GISHT TANT A YR DI fba BN Saarg &= J fauford favar g2

.62
A5
. 126
4. 67

Options :
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68019117517. 1
68019117518. 2
68019117519. 3
68019117520. 4

Question Number : 6 Question Id : 6801914497 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Plant physiological and biochemical response to elevated CO; 1s known as

1. CO,-fertigation
2. CO,-humification
3. CO,-nitrification
4. CO,-fertilization

Options :

68019117521. 1
68019117522. 2
68019117523. 3
68019117524. 4

Question Number : 6 Question Id : 6801914497 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68019117521. 1
68019117522. 2
68019117523. 3

68019117524. 4

Question Number : 7 Question Id : 6801914498 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which cropping system occupies the maximum area in India?

1. Rice - wheat
2. Rice - rice

3. Maize - chickpea
4. Maize - wheat

Options :

68019117525. 1
68019117526. 2
68019117527. 3

68019117528. 4

Question Number : 7 Question Id : 6801914498 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019117525. 1
68019117526. 2
68019117527. 3
68019117528. 4

Question Number : 8 Question Id : 6801914499 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST1I LISTII
(Potential Cropping System)] (Rainfall in mm)
A |Double cmppﬁ:g L |=300
B. |No Crop IT. |301-700
C. |Single cropping II. |701- 1100
D. |Inter cropping IV |=1100

Choose the correct answer from the options given below:

1.(A)- (). (B) - (I). (C) - (IV). (D) - (II)
2. (A) - (II1). (B) - (I). (C) - (I1). (D) - (IV)
3. (A) - (IV). (B) - (D). (C) - (III). (D) - (II)
4. (A) - (IV), (B) - (1), (C) - (II), (D) - (III)

Options :

68019117529. 1
68019117530. 2
68019117531.3
68019117532. 4

Question Number : 8 Question Id : 6801914499 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gt 151 gt 11 9 [ S

I 11
.aqmﬁ?r?ajwwn?ﬁa w?gﬁrﬁ)
A |aigd mEa 1. |=300
B. [®% ®Oaasl | IL [301-700
C. |udd B I11. [701-1100
D. |3dR BHAg IV. > 1100

frafeiad faeedl § I 98t IR &1 999 HIf -

1. (A) - ID). (B) - (I). (C) - (IV). (D) - (II)
2. (A) - (I). (B) - (I). (C) - (II). (D) - (IV)
3.(A) - (IV). (B) - (). (C) - (IIT). (D) - (II)
4.(A) - (IV). (B) - (I). (C) - (II). (D) - (III)

Options :



68019117529. 1
68019117530. 2
68019117531. 3

68019117532. 4

Question Number : 9 Question Id : 6801914500 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which among the following is a positional average ?

1. Mean

2. Median
3. Mode

4. Midrange

Options :

68019117533. 1
68019117534. 2
68019117535. 3

68019117536. 4

Question Number : 9 Question Id : 6801914500 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
fafeieaa ¥ O eiH-a1 RRyfdrd sied 82

1. HI
2. HIfeP1
3. dguid

4, GH-ORIR
Options:
68019117533. 1
68019117534. 2

68019117535. 3



68019117536. 4

Question Number : 10 Question Id : 6801914501 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one is not the a benefit of agroforestry?

1. Efficient recycling of nutrients
2. Improvement in microclimate
3. Reduction of pressure on forest
4. Green water uptake

Options:

68019117537. 1
68019117538. 2
68019117539. 3
68019117540. 4

Question Number : 10 Question Id : 6801914501 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

68019117537. 1
68019117538. 2
68019117539. 3

68019117540. 4

Question Number : 11 Question Id : 6801914502 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which programme has been launched as a part of the Golden Jubilee celebration of
ICAR ?

1. Lab to Land Programme

2. National Demonstration Project

3. Training and Visit System

4. Integrated Rural Development Programme

Options :

68019117541. 1
68019117542, 2
68019117543.3

68019117544. 4

Question Number : 11 Question Id : 6801914502 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019117541. 1
68019117542. 2
68019117543. 3

68019117544. 4

Question Number : 12 Question Id : 6801914503 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

Conversion of 'central leaf into shiny tubular structure’ 1s associated with which of
the following pest of rice crop 7

. Gall midge
. Gundi bug
3. Stem borer
4. Case worm

= —

Options :

68019117545. 1
68019117546. 2
68019117547. 3

68019117548. 4

Question Number : 12 Question Id : 6801914503 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019117545. 1
68019117546. 2
68019117547. 3

68019117548. 4

Question Number : 13 Question Id : 6801914504 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following facts are associated with khaira disease of rice?
(A). Appearance of white mid rib

(B). Symptoms appear between two and four weeks after transplanting
(C). Stunted growth

(D). Dead hearts
Choose the correct answer from the options given below

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
3. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

Options :

68019117549. 1
68019117550. 2
68019117551.3

68019117552. 4

Question Number : 13 Question Id : 6801914504 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019117549. 1
68019117550. 2
68019117551. 3

68019117552. 4



Question Number : 14 Question Id : 6801914505 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Identify the facts associated with wilt in chickpea crop
(A).Occurs 3 weeks after sowing

(B).Weakening and dying of plants

(C).Treated seed with Azotobacter - PSB can control wilt
(D).Dark colouration of affected portions

Choose the correcr answer from the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
3. (B). (C) and (D).

4. (A). (C) and (D) only.

P

Options:

68019117553. 1
68019117554. 2
68019117555. 3

68019117556. 4

Question Number : 14 Question Id : 6801914505 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68019117553. 1

68019117554. 2



68019117555. 3
68019117556. 4

Question Number : 15 Question Id : 6801914506 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST1I LISTII

Disease Organism
A |Loose smut L ?\:e*;csgia
B. |Karnal bunt Il. |Puccinia
C. |Rust IT1. |Ervsiphe
D. |Powdery mildew| IV, |Ustilago

Choose the correct answer trom the options given below:

- (A) - (). (B) - (II). (C) - (IIT). (D) - (IV)
. (A) - (IV). (B) - (1), (C) - 1), (D) - (I1T)
. (A) - (IV). (B) - (I). (C) - (III). (D) - (II)
. (A) - (IIT). (B) - (IV). (C) - (I). (D) - (II)

| S

e o

Options:

68019117557. 1
68019117558. 2
68019117559. 3

68019117560. 4

Question Number : 15 Question Id : 6801914506 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. (A) - (). (B) - (II). (C) - (IIT). (D) - (IV)
2.(A) - (IV). (B) - (). (C) - (II). (D) - (III)
3.(A)-(IV). (B) - (I).. (C) - (IIT). (D) - (II)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

Options :

68019117557. 1
68019117558. 2
68019117559. 3

68019117560. 4

Question Number : 16 Question Id : 6801914507 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(Plant nutrient) (Scientist associated)
A |Carbon from air [ Justus V Liebig
B. |Carbon from soil II. |Francis Bacon
C. |Phosphorous from soil III. |Bossingault
D. |Water 1s the principle of element of vegetation| IV. |Humphrey Davy

Choose the correct answer from the options given below:

1. (A) - II). (B) - (IV). (C) - (I). (D) - (II)
2. (A) - (IV). (B) - (ITT). (C) - (IT). (D) - (I)
3.(A) - ({@). (B) - (I). (C) - (IV). (D) - (II)
4. (A) - (II). (B) - (IV). (C) - (I). (D) - (I)

Options :



68019117561. 1
68019117562. 2
68019117563. 3

68019117564. 4

Question Number : 16 Question Id : 6801914507 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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. (A) - (IIT). (B) - (IV). (C) - (I). (D) - (II)
(A) - (IV). (B) - (III). (C) - (I1). (D) - (I)
(A)-(I). (B) - (II). (C) - (IV). (D) - (III)
(A) - (TIIT). (B) - (IV). (C) - (II). (D) - (I)
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Options :

68019117561. 1
68019117562. 2
68019117563. 3

68019117564. 4

Question Number : 17 Question Id : 6801914508 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



How many essential nutrients are required for plant growth and development?

.14
o) I
.18
4. 20

Options :

b =

L]

68019117565. 1
68019117566. 2
68019117567. 3

68019117568. 4

Question Number : 17 Question Id : 6801914508 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
arell &1 gl 3R g & AU fra- sTavaed Uive dal &1 HTaRadhdl sidl o7

.14
.17
.18
4. 20

Options :
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68019117565. 1
68019117566. 2
68019117567. 3
68019117568. 4

Question Number : 18 Question Id : 6801914509 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Deficiency symptoms of phosphorous are:

(A). Purple orange colour of older leaves

(B). New leaves turned to white

(C). Poor root system

(D). Reduced tillering in cereals

Choose the correct answer from the options given below:

1. (A). (B). (C) and (D)
2. (A). (B) and (C) only.
3. (A). (C) and (D) only.
4. (A) and (C) only.

Options :

68019117569. 1
68019117570. 2
68019117571.3
68019117572. 4

Question Number : 18 Question Id : 6801914509 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

BIEpRY & BH! & AU B:

(A). TR ufpgl 1§ AR ST g
(B). T3 Uil &1 g g

(C). EId SIS YUlTai!

(D). YT Bl H dodil bl DHI

- fau e fam el § 9§ |el SR I

L. (A). (B). (C) 3R (D)
2. 9ad (A). (B) AR (C)
3.9dd (A). (C) 3R (D)
4.%ad (A) 3R (O)

Options :

68019117569. 1
68019117570. 2
68019117571. 3

68019117572. 4



Question Number : 19 Question Id : 6801914510 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

What is true in relation to soil fertility and productivity?

(A). Soil fertility 1s the capability of soil for higher crop productivity.

(B). Soil fertility is an inherent capacity of soil to provide essential plant nutrients
in balance proportion.

(C). Soil productivity 1s more complex than soil fertility,

(D). All productive soils are fertile soils and vice-versa.

Choose the correct answer from the options given below:

1. (B) and (C) only.

2. (A). (B) and (C) only.
3. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

Options :

68019117573. 1
68019117574. 2
68019117575. 3

68019117576. 4

Question Number : 19 Question Id : 6801914510 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

e 3avdl SR SdIeddl & HaY H o1 95l o7

(A). Tl 3avdl 3 HHd IdGHdl & fad gl $f &Har s |

(B). HaT 3axdl Hdferd SUrd & Uit & 31aRgd UG ded Y& B o (¢
et &1 ue sidi-led &g

(C). Gal FdTEHdl Hal Iaxdl B gal 1 S wfed g

(D). 92l Faree el Sues; Mgl § Sk 9t Suss; Ag Sares Bgi g |
- feu U foeedl 0 9 98t 3R 9:

1.%qd (B) 3R (C)

2. Had (A), (B) AR (C)
3. (A). (B). (C) 3R (D)
4.%ad (B). (C) 3R (D)

Options:




68019117573. 1
68019117574. 2
68019117575. 3

68019117576. 4

Question Number : 20 Question Id : 6801914511 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Who proposed the essentiality criteria of nutrients for plants?

1. Justus V Liebig and Stohmann (1873)
2. Arnon and Stout (1939)

3. Boussingault and Brown (1887)

4. Birner and Lucanus (1866)

Options :

68019117577. 1
68019117578. 2
68019117579. 3
68019117580. 4

Question Number : 20 Question Id : 6801914511 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

arell & foTT ives dedl 1 Al ArHes e pefad faan

G@?—f‘oﬁ ST 3R Wieh (1873)
3 IR w3 (1939)

.aﬁ?ﬂa{_ 3R T3 (1887)
4, §R 3R B (1866)

':..ulul—l

Options :
68019117577. 1
68019117578. 2

68019117579. 3



68019117580. 4

Question Number : 21 Question Id : 6801914512 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I wath List IT

LISTI LISTII
l(Biochemical and physiological function)|{ Associated nutrients)|
A |Major constituent of plzmts I |[NandS5S
B. |Involved in biochemical reactions II. |Zn and Mo
C. |Free 1onic state [II. |[Pand B
D. |Present as chelates IV. |Ca and Mg

Choose the correct answer from the options given below:

(A) - (I). (B) - (ITII). (C) - (IV). (D) - (II)
- (A) - (I). (B) - (IID), (C) - (II). (D) - (IV)
(A)- (1), (B) - (1), (C) - (IV). (D) - (IIT)
(A) - (T). (B) - (IV). (C) - (IIT). (D) - (IT)

| B

e o

Options :

68019117581. 1
68019117582. 2
68019117583.3
68019117584. 4

Question Number : 21 Question Id : 6801914512 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gt 151 gdt 11 ¥ [HaE $ifen

el T I
(19 T SR RIS Br) mfﬂau’rwac—cn.
A [diei & U@ gD NUds
B. |oid @@ uidfsaredl ® eiFd| 11 |Zn Td Mo
C. |ad AHD TR II.([PTdB
D. |facicd & U H Iuiyd IV. [Ca T8 Mg
fFafiRad faeedl & I I8t 3Tk &1 999 DI

1. (A) - (). (B) - (IIT). (C) - (AV). (D) - (II)
2.(A) - (1). (B) - (). (C) - (II). (D) - (IV)
3.(A)- (D). (B) - (). (C) - (IV). (D) - (IIT)
4.(A) - (I). (B) - (IV). (C) - (IIT). (D) - (II)

Options :

68019117581. 1
68019117582. 2
68019117583.3
68019117584. 4

Question Number : 22 Question Id : 6801914513 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sequential steps mnvolved in mineralisation of nitrogen
(A). NH,

(B). NO,

(C). Protem

(D). NO,

Choose the ecorrect sequence from the options given below:

_(A). (B). (C). (D).
.(A). (B). (D). (C).
(C). (B). (D). (A)
Q). (A). (B). (D).

|

e Laa

Options :
68019117585. 1
68019117586. 2

68019117587. 3



68019117588. 4

Question Number : 22 Question Id : 6801914513 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SIS & WioiieI0 T M 3shiTd =Rl
(A). NH,

(B). NO,

(C). I

(D). NO;

-t fau e fowedl # 9 Hal H DI I+

1. (A). (B). (C). (D).
2. (A). (B). (D). (C).
(C). (B). (D). (A)
4. (C). (A). (B). (D).

L]

Options :

68019117585. 1
68019117586. 2
68019117587.3
68019117588. 4

Question Number : 23 Question Id : 6801914514 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Forest sustainability deals with

(A). Integration of environmental. economic. and social principles.

(B). Fullest utilization of forest resources.

(C). Satisfaction of present environmental, economic. and social needs.

(D). Conservation of forest resources to assure the future generations needs.
Choose the correct answer trom the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
. (A). (C) and (D) only.
4. (A). (B). (C) and (D)

L]

Options:



68019117589. 1
68019117590. 2
68019117591. 3

68019117592. 4

Question Number : 23 Question Id : 6801914514 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

a9 ¥ feprau 4 Usfid 8-

(A) TTTERUL, ST SR T RGidl o1 U iHul

(B) @ YAl T gul ST

(C) TAHM YRV, ST SR QHINS STaaHdrsi & Iqp

(D) HTdl dif¢al Pt i=dl I GHYd B & o7 a1 -1 o1 &0
- feu U faeed! & 9§ |8t SR I

1. %ad (A). (B) 3R (D)
2.%ad (A). (B) 3R (C)
3.9ad (A). (C) 3R (D)
4. (A). (B). (C) 3R (D)

Options :

68019117589. 1
68019117590. 2
68019117591. 3

68019117592. 4

Question Number : 24 Question Id : 6801914515 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Conservation tillage helps in

(A). Maximising soil water storage

(B). Minimising soil erosion

(C). Reducing energy consumption

(D). Increasing bulk density

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
3. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

Options :

68019117593. 1
68019117594. 2
68019117595. 3
68019117596. 4

Question Number : 24 Question Id : 6801914515 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

TR&UT ST, 394 TGG DRl §

(A) H3I 5T HSRUT I JHiUhdH H- H
(B) HaT 3RS Pl HH H3- H

(C) Fooll &1 GUd B HH DA 1

(D) ¥ 97cd Hglq dx H

- fau e fam el § 9§ |el SR I

1. ®dd (A). (B) 3R (D)
2.%ad (A). (B) 3R (C)
3.(A). (B). (C) R (D)

4.%ad (B), (C) 3R (D)

Options :

68019117593. 1
68019117594. 2
68019117595. 3

68019117596. 4



Question Number : 25 Question Id : 6801914516 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which cropping system is more sustainable i nature?

1. Maize - wheat
2. Maize - mustard
3. Rice - wheat

4. Maize - chickpea

Options :

68019117597. 1
68019117598. 2
68019117599. 3

68019117600. 4

Question Number : 25 Question Id : 6801914516 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Uld H BH-4Hl BHa Yol e gad 82
1. AgRI-T1g
2. HEHT- T
3. I199-71g
4. Hap[-d-1
Options :

68019117597. 1
68019117598. 2
68019117599. 3

68019117600. 4

Question Number : 26 Question Id : 6801914517 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(Agroforestry definition) (Associated with)
A Sustainablg management svstem for land. I. |Bartle, 1977
B. |Bange land management with trees II. |Thomas, 1977
C. |Integration of trees_ crops and animals. I1I. |Bene et al. 1977
D. |Combination of agriculture and forestry IV |MNair, 1979

Choose the correct answer from the options given below:

1. (A) - ID). (B) - (I). (C) - AV). (D) - (II)
2. (A) - (I). (B) - (III). (C) - (II). (D) - (IV)
3.(A)- (D). (B) - (I). (C) - (IV). (D) - (II)
4. (A) - (II). (B) - (AV). (C) - (I). (D) - (II)

Options :

68019117601. 1
68019117602. 2
68019117603. 3

68019117604. 4

Question Number : 26 Question Id : 6801914517 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt 151 gt 11 ¥ [HaE $iforn
I 11
@F&m@%ﬂtﬁm @Hﬂ?@uﬁa@
A |Yff o fofe =i nEeH qored I [add. 1977
B. [USi & 91y & YH ude= 1L (4199, 1977
C. |g&ff. Bl 3R UH! DT TDIHUl| 111 [&- Te 31, 1977
D. [P 3R a1 B Hle IV. [ARR, 1979

frafafad fdeedl & 3 98t SR &1 9u4 i

. (A) - (II). (B) - (I). (C) - (IV). (D) - (II)
(A) - (I). (B) - (IIT). (C) - (II). (D) - (IV)
- (A)- (). (B) - (II). (C) - (IV). (D) - (I1I)
. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

e L b =



Options :

68019117601. 1
68019117602. 2
68019117603. 3

68019117604. 4

Question Number : 27 Question Id : 6801914518 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Agricultural waste management involves sequence of events as
(A). Crop and animal waste

(B). Mineralization of nutrients

(C). Decomposition into manures and used in crop production
(D). Nutrient uptake by crop plants

Choose the correct answer trom the options given below:

1. (A). (B). (C). (D).
2. (A), (C). (B). (D).
- (A). (B). (D). (C).
.(B). (C). (D). (A).

e T

Options :

68019117605. 1
68019117606. 2
68019117607. 3
68019117608. 4

Question Number : 27 Question Id : 6801914518 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



PV SR &y § ge-1sil &1 54 8

(A) BT 3R U] SUEy

(B) U9 ded| b1 @i-olidh ]

(C) @IE § 3q9eq 3R BOd Ided § SudnT
(D) BTl Oief gRT OIS dodi &l AU
- feu Y fd@edl O 9§ |el SR 94

1. (A). (B). (C). (D).
2. (A), (C). (B). (D).
3. (A), (B). (D). (C).
4. (B). (C), (D). (A).

Options :

68019117605. 1
68019117606. 2
68019117607. 3

68019117608. 4

Question Number : 28 Question Id : 6801914519 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I wath List IT

LISTI LISTII
l(Agricultural waste)] (Nitrogen %)
[ A [Cattle dung I [10-18

B. |Poultry manure | II. |0.6
C. |Sheep dung III. |0.95
D. |Horse dung IV |0.70

Choose the correct answer from the options given below:

1. (A) - V). (B) - (II). (C) - (D). (D) - (I)
2. (A) - (1), (B) - (IT), (C) - (II). (D) - (IV)
3.(A)- (D). (B) - (I). (C) - (IV). (D) - (II)
4. (A) - (IT). (B) - (I). (C) - (III). (D) - (IV)

Options :
680191176009. 1
68019117610. 2

68019117611. 3



68019117612. 4

Question Number : 28 Question Id : 6801914519 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g1 191 gt 11 ¥ [HaE $ifer

R | e

A [HaRREiH1MER| L [1.0-18
B |giimiw | I [os
C. |He®iMaR |10 [0.95
D. [dis HIER |1V, |0.70

frafafad fdwedl & 3 98t SO &1 9u4 i

(A) - (IV). (B) - (IIT). (C) - (I). (D) - (I)
. (A) - (I). (B) - (I). (C) - (III). (D) - (IV)
. (A)- (D). (B) - (1), (C) - (IV), (D) - (I1I)
- (A) - (II). (B) - (I). (C) - (I1I). (D) - (IV)

faa a3 —

=

Options :

68019117609. 1
68019117610. 2
68019117611. 3

68019117612. 4

Question Number : 29 Question Id : 6801914520 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



The correct order of steps in resource conservation 1s:
(A). Maximise retention and percolation of precipitation
(B). Soil and water conservation measures

(C). Management of silt

(D). Proper storage of run off water

Choose the correct answer from the options given below:

1. (A). (B). (C). (D).
2. (B). (A). (D). (C).
3.(B). (A). (C). (D).
4. (A), (B). (D). (C).

o B

Options :

68019117613. 1
68019117614. 2
68019117615. 3

68019117616. 4

Question Number : 29 Question Id : 6801914520 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

1Y SR&0T o IR0 & Hel hH o-

(A) T o UIAURUT 3R a0l &I A ST
(B) Tl 3R Sidl GR&UT & I

(C) TS BT HAYH

(D) §8d IHI BT Id HSRUI

- fau e oo el § 9§ |el SR I

1. (A). (B). (C). (D).
2. (B). (A). (D). (C).
3.(B). (A). (C). (D).
4. (A). (B). (D). (C).

Options :

68019117613. 1
68019117614. 2
68019117615. 3
68019117616. 4



Question Number : 30 Question Id : 6801914521 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Benefits of conservation agriculture include

(A). Improvement in soil structure

(B). Increase in soil organic carbon

(C). Need more energy

(D). Reduce infiltration of water

Choose the correcr answer from the options given below:

. (A) and (B) only.
. (A). (B) and (C) only.
. (A). (B). and (D).
4. (A). (B). (C) and (D)

|

a2

Options:

68019117617. 1
68019117618. 2
68019117619.3

68019117620. 4

Question Number : 30 Question Id : 6801914521 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

TREUT BT & @rHl T 2mid §
(A) g 1 9= 8 guR
(B) g1 & ol H1E4 | afs
(C) fUH Foll B ATIIHI
(D) I I 3 TE" HH DAl

-ite fau e foepedl & € |l SR I

1. %4d (A) AR (B)
2.4 (A). (B) AR (C)
3.%dd (A), (B). 3R (D)
4.(A). (B). (C) 3R (D)

Options :
68019117617. 1

68019117618. 2



68019117619. 3

68019117620. 4

Question Number : 31 Question Id : 6801914522 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements about mango are correct?
(A). Mankurad 1s a mid season popular variety of Goa.

(B). Niranjan 1s a off season variety.

(C). Chausa 1s a late maturing variety of South India.

(D). India ranks first in mango production.

Choose the correcr answer trom the options given below:

. (A). (B) and (D) only.
. (A). (B) and (C) only.
. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

I =

L]

Options:

68019117621. 1
68019117622. 2
68019117623.3

68019117624. 4

Question Number : 31 Question Id : 6801914522 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



FH IR RRu U Hu=i § S HH9 9 98l 82

(A) HAPRIE TTial B A HIEH &l Al [ g1
(B) o & st e 8l

(C) I Sf&0r YRd & &3 & ulvus g+ gl few g
(D) 31 & JdTeH § YRd Ued ™M W gl

- feu T fosedl O 9§ 98t SR -

1. %ad (A). (B) 3R (D)
2.%ad (A). (B) 3R (C)
3. (A). (B). (C) 3R (D)

4. %ad (B), (C) 3R (D)

Options:

68019117621. 1
68019117622. 2
68019117623. 3
68019117624. 4

Question Number : 32 Question Id : 6801914523 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(Fruit crop) (Variety)
A |Pear I. |Mariposa
B. |Peach II. |Amritha
C. |Plum ITI. |Laxton's Superb
D. |Pineapple IV, |Quetta

Choose the correct answer from the options given below:

L. (A) - (1), (B) - (II), (C) - (1IT). (D) - (IV)
2. (A) - (I). (B) - (IIT). (C) - (IT). (D) - (IV)
3. (A)- (), (B) -(IV). (C) - (II). (D) - (I)
4. (A) - (IIT), (B) - (IV). (C) - (). (D) - (I)

Options :
68019117625. 1
68019117626. 2

68019117627. 3



68019117628. 4

Question Number : 32 Question Id : 6801914523 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g1 191 gt 11 ¥ [HaE $ifer

I 11
mﬁgm g‘zﬂ)
| = L [arEr
33 I |3
AAGERT | 11 |dae qud
Sieeiee) IV. |@e1

frafafad fdwedl & 3 98t SO &1 9u4 i

(A) - (I). (B) - (I). (C) - (II). (D) - (IV)
. (A) - (I). (B) - (TT). (C) - (II). (D) - (IV)
. (A) - (III), (B) - {IV), (C) - (1), (D) - (I)
. (A) - (II1). (B) - (IV). (C) - (I). (D) - (II)

i

o|o|w

faa a3 —

=

Options :

68019117625. 1
68019117626. 2
68019117627. 3

68019117628. 4

Question Number : 33 Question Id : 6801914524 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements about grapes are correct?
(A). Summer prunning time in Anab-e-Shahi 1s April.

(B). Winter prunning time in Thompson Seedless 1s October.
(C). Summer prunning time in Bhokri 1s June- July.

(D). Summer prunning time in Banglore Blue 1s January to May.
Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
3. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

Options :

68019117629. 1
68019117630. 2
68019117631.3
68019117632. 4

Question Number : 33 Question Id : 6801914524 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

TR & IR ¥ fAU T S § G o 9 el 82

(A) SFTE-U-TMET § UTSHBIRAH BeTg BT 9HY U 6|

(B) YITE HIScid H idadic = Bels & 999 Jacas o
(C) Ui T T7H Bl BT Bl 997 -9 ¢ |

(D) ITTER & H AT ers B 99Y S-asl 4 ¥ @ g |
- fau e o el § 9§ |el SR I

1. ®dd (A). (B) 3R (D)
2.%ad (A). (B) 3R (C)
3.(A). (B). (C) R (D)

4.%ad (B), (C) 3R (D)

Options :

68019117629. 1
68019117630. 2
68019117631. 3

68019117632. 4



Question Number : 34 Question Id : 6801914525 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Arrange fruit crops as per its importance in Indian economy (Top to bottom)
(A).Guava

(B). Mango

(C). Citrus

(D). Banana

Choose the correcr answer from the options given below:

.(B). (D). (C). (A).
.(D). (B). (C). (A).
.(B). (D). (A). (C).
.(D). (B). (A). (C).

|

e g

Options:

68019117633. 1
68019117634. 2
68019117635.3

68019117636. 4

Question Number : 34 Question Id : 6801914525 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

:ﬁugﬁua{?fma@nﬁﬂ%ﬁa? 3TYR Bl Bl Bl Bl Saeyd B (GIR I
)

(A) SHHEq

(B) SiH

(©) g,

(D) el

=i fau T faeedl § 9§ 9t 9 9:

1. (B). (D). (C). (A)
2. (D). (B). (C). (A)
3. (B). (D). (A). (C)
4. (D). (B). (A). (C)

Options :

68019117633. 1



68019117634. 2
68019117635. 3

68019117636. 4

Question Number : 35 Question Id : 6801914526 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

De-navelling in banana refers to which of the following practice ?

. Removwal of female bud

. Removal of side suckers
. Thinning of fruit bunch
4. Removal of male bud

b =

L]

Options :

68019117637. 1
68019117638. 2
68019117639. 3

68019117640. 4

Question Number : 35 Question Id : 6801914526 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&l § f$-Aafe Fafafad & 9 fow uishar o daftid @ar g2

1. HT&T il I geHT

2. 911 &b Y| Pl geM

3. Bl & T[=5 P Ul H]
4. R Pl Bl g

Options:

68019117637. 1
68019117638. 2
68019117639. 3
68019117640. 4



Question Number : 36 Question Id : 6801914527 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Anacardium occidentale 1s native to which country?

1. India

2. South America
. Philippines

4. Brazil

Options :

%]

68019117641. 1
68019117642. 2
68019117643. 3

68019117644. 4

Question Number : 36 Question Id : 6801914527 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UAIPISTH SiiFasect b 421 1 Ud §°

HRd

&7 SHRPT
Topairdig

4. FTSid

Options :

fag g =

68019117641. 1
68019117642. 2
68019117643. 3

68019117644. 4

Question Number : 37 Question Id : 6801914528 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements about coconut are correct?

(A). As an oilseed coconut holds 15 percent share of the total o1l seed value out put
in India.

(B). Ideal pH 1s 7.0 to 9.5 for good growing of coconut.

(C).Required average temperature is 27 to 32° C,
(D). Kera Sree 1s hybrid variety of coconut.

Choose the correct answer from the options given below:

1. (A). (C) and (D) only.
2. (A). (B) and (C) only.
3. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

Options :

68019117645. 1
68019117646. 2
68019117647.3

68019117648. 4

Question Number : 37 Question Id : 6801914528 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TRTadaR sy 4 HH I 9el 82
(A)Qﬁ?ﬁ%ﬂ%ﬂﬁ%%gjm foee g ° A1ad of igWeRt 15
PIREISE
(B) ATRTd B 33! Walt & faw el fiva s aa 79 9.5 81
(C) T H 31ad arga= 27 ¥ 32 {530 afdma g1
(D) B &t TIad ot o fm g
- feu Y fdedl O 9§ |el SR I
1. %qd (A). (C) 3R (D)
2.%ad (A). (B) 3R (C)

3.(A). (B). (C) 3R (D)
4. %ad (B), (C) 3R (D)

Options :

68019117645. 1

68019117646. 2



68019117647. 3
68019117648. 4

Question Number : 38 Question Id : 6801914529 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(Important feature) (Variety of Turmeric)|
A |Resistant to shoot borer| I |Suranjana
B. |Resistant to leaf spot II. |BSE-1
C. |High oleoresin content | III. |Prathibha
D. |Resistant to drought IV |Sudarshana

Choose the correct answer trom the options given below:

- (A) - (1), (B) - (I1), (C) - (I1I), (D) - (IV)
(A)- (D). (B) - (III). (C) - (I). (D) - IV)
- (A) - (). (B) - (I). (C) - (IV). (D) - (IIT)
(A)- (D). (B) - (IV). (C) - (1), (D) - (II)

| S

e o

Options:

68019117649. 1
68019117650. 2
68019117651.3

68019117652. 4

Question Number : 38 Question Id : 6801914529 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



gt 151 gdt 11 ¥ [HaE $ifen

I 11
.
A [REER B UGIS | L [gEe
B. |u<il & Yad &1 Ufaie| 11 [divgam-a
C. [3= snferaRfy= g | 1. [ufaw
D. | 4@ ufcrieh IV. [gexH
fFafiRad faeedl & I I8t 3Tk &1 999 DI

1. (A) - (). (B) - (II). (C) - (III). (D) - (IV)
2.(A)-(1). (B) - (). (C) - (II). (D) - (IV)
- (A)- (). (B) - (I). (C) - (IV). (D) - (IIT)
4.(A) - (I). (B) - (IV). (C) - (IIT). (D) - (II)

LTS}

Options :

68019117649. 1
68019117650. 2
68019117651.3

68019117652. 4

Question Number : 39 Question Id : 6801914530 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correct difference between Lianas and Epiphytes is

1. Lianas will grow with the support of other plants. but. epiphyes will not take
support of other plants

2. Lianas are vascular plants rooted in the ground. but epiphytes grow on other
plants

3. Lianas are present in tropical rain forests and epiphytes in dense forests of
tropical climate

4. Lianas do not maintain direct nutrient relation with other plants. epiphytes
maintain

Options :

68019117653. 1
68019117654. 2
68019117655. 3
68019117656. 4



Question Number : 39 Question Id : 6801914530 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ferar1 3iR ufiwiged & ofw 9t 3iav @

1.mmﬁriﬁﬁwﬁﬁmﬁmqﬁwmﬁtﬁﬁwaﬁ
2. ferarrg HagH ie € et ors & 1 gidl €. S tiywrgey o=
e TR 37 &

3. ferarr S feasdi anf o= & AigE €4 § Sik tiwsey

U CEg STearg & ©- STel § gd

4, TR 3= Uil & WY Ueag UIve TaY S8R ol 3@ §. UUmEey
TR TG &

Options :

68019117653. 1
68019117654. 2
68019117655. 3
68019117656. 4

Question Number : 40 Question Id : 6801914531 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In which association where one species is benefited and the other one 1s not
affected?

1. Mutualism

2. Antibiosis

3. Exploitation

4, Commensalism

Options:

68019117657. 1
68019117658. 2
68019117659. 3

68019117660. 4



Question Number : 40 Question Id : 6801914531 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B Y T3 1 o] TP USlid aryTi-ad gidl o SR gaRl wHIfdd el sidl 8?2

1. R REI
2, TeEMIRN
3. QN0

4. FEgrferdr

Options :

68019117657. 1
68019117658. 2
68019117659. 3
68019117660. 4

Question Number : 41 Question Id : 6801914532 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Components from bottom to top in an ecological pyramid are:

1. Producers. Herbivores. Carnivores

2. Herbivores. Producer. Carnivores

3. Secondary carnivores, Herbivores, Producers
4. Parasites, Herbivores. Carnivores

Options :

68019117661. 1
68019117662. 2
68019117663. 3

68019117664. 4

Question Number : 41 Question Id : 6801914532 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
giifRufdetg foR1fers O =1 8 IR 0@ & U o

1. 3UEH, AMHERI. TURRI
2. YHERY. 3G, Higerl
3. fgdig® HigIeR], APeR], Idad
4. GIGIdl, YTPTER]. HigeRt

Options :

68019117661. 1
68019117662. 2
68019117663. 3

68019117664. 4

Question Number : 42 Question Id : 6801914533 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Interlocked food chains are called:

1. Intermixing
2. Interlinkage
3. Food web

4. Food matrix

Options :

68019117665. 1
68019117666. 2
68019117667. 3

68019117668. 4

Question Number : 42 Question Id : 6801914533 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



ST OTRNI=d GTel YRGS &l Sgl ol o:

Options :

68019117665. 1
68019117666. 2
68019117667. 3

68019117668. 4

Question Number : 43 Question Id : 6801914534 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ecological succssion happening on sand 1s known as

1. Halosere
2. Xerosere
. Lithosere
4. Psammosere

Taa

Options :

68019117669. 1
68019117670. 2
68019117671. 3

68019117672. 4

Question Number : 43 Question Id : 6801914534 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1: %ﬂ Re Ry

2. SRR

3. fergtae

4, YUY
Options :
68019117669. 1
68019117670. 2
68019117671. 3

68019117672. 4

Question Number : 44 Question Id : 6801914535 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[dentify the correct aspects regarding multi purpose tree species
(A). Resistance to drought. floods ete..

(B). Good leaf litter addition

(C). Resistant to coppicing. pollarding. pruning

(D). Closed crown

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
_(A). (C) and (D).

4. (B). (C) and (D) only.

Laa

Options :

68019117673. 1
68019117674. 2
68019117675. 3

68019117676. 4

Question Number : 44 Question Id : 6801914535 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SgoeRdg & Ueliadl & ey § 9gl Ugqsil &I Ugdr B
(A) @I, §1¢ 311fq &1 iaRidt

(B) UTl 3R &5 BI S5 HaGH

(C) ATS! Hels. URAl Hels, Helg &l ufaiedt

(D) T I3
- feu Y fd@edl O 9§ |el SR 4

1. %ad (A), (B) 3R (D)
2.%ad (A), (B) 3R (O)
3.%ad (A). (C) 3R (D)
4. %4d (B), (C) AR (D)

Options :

68019117673. 1
68019117674. 2
68019117675. 3
68019117676. 4

Question Number : 45 Question Id : 6801914536 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Basic objective of farm forestry is

. Climate protection
. Community needs
. Maximum profit
4. Wild boar control

Options:

|

LS

68019117677. 1
68019117678. 2
68019117679. 3
68019117680. 4

Question Number : 45 Question Id : 6801914536 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

FR-aF P s R -

1. Sadrg W&
2. GHMS Bl W=
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4. STCHl 3R BT g0

Options :

68019117677.1
68019117678. 2
68019117679. 3

68019117680. 4

Question Number : 46 Question Id : 6801914537 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mean Annual Increment of tree growth can be computed by using the formula

. Volume/Age

. Volume*Age

. Age/Volume

. Volume*DBH/Age

| I

L]

i

Options :

68019117681. 1
68019117682. 2
68019117683. 3
68019117684. 4

Question Number : 46 Question Id : 6801914537 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



&1 9IS DI A AP g DI MU 58 o 5T SUTRT HRP D1 &l Gl o
1. 3{GA/3Y
2. 3T * 31
3. 3T/ AT
4. TG * SIEITE/3M1g
Options :
68019117681. 1
68019117682. 2
68019117683. 3

68019117684. 4

Question Number : 47 Question Id : 6801914538 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Huber’s formula 1s useful to measure which part of the tree 7

1. Leaf weight
2. Stem volume
. Root weight
. Crovwn width

L]

=

Options :

68019117685. 1
68019117686. 2
68019117687.3
68019117688. 4

Question Number : 47 Question Id : 6801914538 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options:

68019117685. 1
68019117686. 2
68019117687.3
68019117688. 4

Question Number : 48 Question Id : 6801914539 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Evergreen shola forests are found in which area of India ?
(A). Nilgiris

(B). Annamalai hills

(C). Palni hills

(D). Himalayas of Jamumu and Kashmir

Choose the correct answer trom the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

L]

Options :

68019117689. 1
68019117690. 2
68019117691. 3

68019117692. 4

Question Number : 48 Question Id : 6801914539 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



YeeR Yidl a4 YRd & &9 &4 5 Ui oiid 22
(A) AlaR

(B) SASTHICTE UgT$al

(C) UeHl ggTrsal

(D) O 3R HIER & [gHTeg

- feu Y fd@edl O 9§ |el SR 4

1. %ad (A). (B) 3R (D)
2.%ad (A). (B) 3R (C)
3. (A). (B). (C) 3R (D)

4. %ad (B), (C) 3R (D)

Options:

68019117689. 1
68019117690. 2
68019117691. 3

68019117692. 4

Question Number : 49 Question Id : 6801914540 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TUCN stands for

1. International Union for Conservation of Nature

2. International Union for Conservation of Nature and Natural resources
3. Intergovernmental Union for Nature's conservation

4. Indian Union for Conservation of Nature

Options :

68019117693. 1
68019117694. 2
68019117695. 3

68019117696. 4

Question Number : 49 Question Id : 6801914540 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

ST & 3 §
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Options :

L P R

68019117693. 1
68019117694. 2
68019117695. 3

68019117696. 4

Question Number : 50 Question Id : 6801914541 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
Organization/Act [Year of establishment
A |Bombay :\';rural History Society I |1938
B. |Wild life Preservation Society of India | IT. [1883
C. |World Wildlife fund III. 11972
D. |Wild life protection Act IV |1969

Choose the correct answer from the options given below:

1. (A) - D). (B) - (). (C) - (IV). (D) - (III)
2. (A) - (I). (B) - (III). (C) - (II). (D) - (IV)
- (A) - (). (B) - (II). (C) - (IV). (D) - (I1I)
4. (A) - (II). (B) - (AV). (C) - (I). (D) - (II)

a2

Options :

68019117697. 1
68019117698. 2
68019117699. 3

68019117700. 4



Question Number : 50 Question Id : 6801914541 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gt 151 gt 11 9 [ S
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A |§r Agd et giarser | 1 [1938

B. |YRdg g-oiid L& GE=| 11 [ 1883

C. |3y goiid diy 1. 1972

D. |a=gvild G =gy V. [ 1969
frafefad faeedl § 3 98t IR &1 999 BIfo

1. (A) - (II). (B) - (I). (C) - (IV). (D) - (III)
2. (A)-(1). (B) - (III). (C) - (II). (D) - (IV)
3. (A) - (I}, (B) - (II), (C) - (IV), (D) - (I1I)
4. (A) - (II1). (B) - (IV). (C) - (1), (D) - (IT)

Options:

68019117697. 1
68019117698. 2
68019117699. 3
68019117700. 4

Question Number : 51 Question Id : 6801914542 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
Book Author
A |Forest Policy I JAK Patra
B. |Forest Mensuration II. |BS Chundawat and SK Gautam
C. |Agroforestry Principles and Practice| IIL. |55 Neg:
D. |Text book of Agroforestry IV, |Chapman

Choose the correct answer from the options given below:

1. (A)-(I). (B) - (II). (C) - (III). (D) - (IV)
2. (A) - (D), (B) - (I1I), (C) - (IT), (D) - (IV)
3. (A) - (I). (B) - (II). (C) - (IV). (D) - (III)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

Options :

68019117701. 1
68019117702. 2
68019117703. 3
68019117704. 4

Question Number : 51 Question Id : 6801914542 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gt 151 gt 11 9 [ S
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frafeiad faeedl § I 98t IR &1 999 HIf -

1. (A) - (I). (B) - (II). (C) - (IIT). (D) - (IV)
2.(A)- (D). (B) - (). (C) - (II). (D) - (IV)
3.(A) - (D). (B) - (I). (C) - (IV). (D) - (IIT)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

ola[w]»

Options :



68019117701.1
68019117702. 2
68019117703. 3

68019117704. 4

Question Number : 52 Question Id : 6801914543 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Who 1s the father of Agroforestry in India?

1. PKR Nair

2. BS Chundawat
3. AP Dwivedi

4. Mohan Kumar

Options :

68019117705. 1
68019117706. 2
68019117707. 3

68019117708. 4

Question Number : 52 Question Id : 6801914543 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

YRd H SH-aiH®! & oS S 82

1. T 3R TR

Options :
68019117705. 1
68019117706. 2

68019117707. 3



68019117708. 4

Question Number : 53 Question Id : 6801914544 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What are the important practices in canopy management of Agroforestry tree
species?

(A). Pruning

(B). Pollarding

(C). Coppicing

(D). Uprooting

Choose the correct answer trom the options given below:

. (A). (B) and (D) only.
. (A). (B) and (C) only.
. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

- =

Tad

Options :

68019117709. 1
68019117710. 2
68019117711.3

68019117712. 4

Question Number : 53 Question Id : 6801914544 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

PiR-aTes! gal weirferd] & faar/eas) et & wewayuf wurg #a1 €2
(A)

(B) XNG1 Hclg

(C) A3 Pelg

(D) WS 9 I@reHl

- fau e fdm el § 9§ |el SR I

1. %ad (A). (B) 3R (D)
2.%ad (A). (B) 3R (C)
3. (A). (B). (C) 3R (D)

4. %ad (B). (C) 3R (D)




Options :

68019117709. 1
68019117710. 2
68019117711. 3

68019117712. 4

Question Number : 54 Question Id : 6801914545 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the followings are correct regarding Riparian zones?
(A). Strips of vegetation bordering water bodies

(B). Width may be up to 50 m

(C). Interface between land and river

(D). Most nations have neglected them

Choose the correct answer from the options given below:

. (A). (B) and (C) only.
. (A). (B) and (D) only.
.(B). (C) and (D).

4. (A). (C) and (D) only.

Ia =

L]

Options :

68019117713. 1
68019117714. 2
68019117715.3
68019117716. 4

Question Number : 54 Question Id : 6801914545 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



frafafaa § ¥ oF T Rofwaa oie & ey § 98t 82
(A). O el @t o or g fd of gfeal
(B). 9SS 50 Hic d& &l 9@di g
(C). YT SR 71dl & &9 Sjapad
(D). SHTRrT=T APT A SH S&T BT 7
- fau Y fdeedl O 9 98t SR I |
1. %ad (A). (B) 3R (C)
2. 9ad (A). (B) 3R (D)

3.%dd (B). (C) 3R (D)
4. %ad (A). (C) 3R (D)

Options:

68019117713. 1
68019117714. 2
68019117715.3
68019117716. 4

Question Number : 55 Question Id : 6801914546 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Identify the chronological order of establishment of the following
programmes/organizations

(A). Central Agroforestry Research Institute

(B). International Council for Research in Agroforestry

(C). All India Co-ordinated Research Project on Agroforestry
(D). National Research Center for Agroforestry

Choose the correct answer from the options given below:

1. (A). (B). (C). (D).
2. (A). (B), (D). (C).
.(B). (C). (D). (A)
4.(C). (B), (D). (A).

Taa

Options :

68019117717. 1
68019117718. 2
68019117719.3

68019117720. 4



Question Number : 55 Question Id : 6801914546 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fFrafeiEd Sriedl -l B R & SBIAMDIHS HH B Ugd 63
(A) D51T HU-FHD! SFTHUTT TR

(B) SIRIFT PiY.aTD! U uikwg

(C) ST R THf PIY-arH®! SFHYH giareHT

(D) TIFT PI-ATDN STUH P

- feu e faedl O 9 6t 9wk :

1. (A). (B). (C). (D).
2. (A), (B). (D). (C).
3.(B). (C). (D). (A)
4.(C). (B), (D). (A).

Options :

68019117717. 1
68019117718. 2
68019117719. 3

68019117720. 4

Question Number : 56 Question Id : 6801914547 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
Svstem Components
A |Horti-pastoral 1. |Fodder crops+tree
B. |5Silvi-olericulture| II. |Perennial hedges+crops
C. |Alley cropping | IIL. |Frut tree+fodder
D. |Forage forestry | IV. | Treet+vegetables

Choose the correct answer from the options given below:

1. (A) - II). (B) - (IV). (C) - (I1). (D) - (I)
2. (A)- (D). (B) - (). (C) - (II). (D) - (IV)
3.(A) - (D). (B) - (I). (C) - (IV). (D) - (II)
4. (A) - (II). (B) - (IV). (C) - (I). (D) - (I)



Options :

68019117721. 1
68019117722. 2
68019117723. 3
68019117724. 4

Question Number : 56 Question Id : 6801914547 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt 151 gdt 11 ¥ [HaH $ifen

A1 g 11

CLUGID (TTS)
A. |SSH-IRETE Uonelt| I [eRiwac + Us
B. |g-0-Teafl UuTel! 1. [aReaE 918 + Byd
C. (3o waa uuTE | 1L (Bl H1US + IR
D. [Zr aifat Iv. |[ug + gfssat
fFafiRad faeedl & I I8t 3Tk &1 999 DI

L. (A) - dID). (B) - (IV). (C) - D). (D) - (I)
2.(A)-(I). (B) - (). (C) - (II). (D) - (IV)
3.(A)-(1). (B) - (). (C) - (IV). (D) - (II)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

Options :

68019117721. 1
68019117722. 2
68019117723. 3

68019117724. 4

Question Number : 57 Question Id : 6801914548 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which are the popular tree species under wood lot category?
(A). Bamboo

(B). Casuarina

(C). Poplar

(D). Glyricidia

Choose the correct answer trom the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
3. (A). (C)and (D)

4. (B). (C) and (D) only.

Options :

68019117725. 1
68019117726. 2
68019117727. 3

68019117728. 4

Question Number : 57 Question Id : 6801914548 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

AP sl -dlc Uil & Ted 98 B Al Weliadl SiH-31 g2
(A) §19
(B) AT
(C) U=’
D) ESIELUEIRR
- fau e fd el § 9§ |el SR I
1. %ad (A), (B) 3R (D)

2. 9ad (A). (B) AR (C)
3.9dd (A). (C) 3R (D)
4. %ad (B), (C) 3R (D)

Options :

68019117725. 1
68019117726. 2
68019117727. 3

68019117728. 4



Question Number : 58 Question Id : 6801914549 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
| Agroforestry Classification Practices
E_ Aprisilviculture [. |Cut and carrv fodder production
B. |Silvipasture II. |Multipurpose wood lots
C. |Agrisilvipastural I1I. JAlley cropping
D. |Other systems IV. |[Home gardens

Choose the correcr answer from the options given below:

- (A) - (I).(B) - (II). (C) - (IIT). (D) - (IV)
AA) - (I). (B) - (III). (C) - (II). (D) - (IV)
(A) - (). (B) - (II). (C) - (IV). (D) - (IIT)
. (A) - (IID). (B) - (D). (C) - (IV). (D) - (II)

|

e T

Options:

68019117729. 1
68019117730. 2
68019117731.3

68019117732. 4

Question Number : 58 Question Id : 6801914549 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



gt 151 gdt 11 ¥ [HaE $ifen

I I
aﬁﬁgﬁﬁa'tﬁﬁﬂ'un (%
A | B39 gorelt L |TR13dIGA @I Hels 3R 964
B. [goarRme el | 1 [egsseiu awddey
C. |pM g IRATE HUIcH| 111 | 3fcid Bad
D. |3 yunfer IV. |7E 3
fFafiRad faeedl & I I8t 3Tk &1 999 DI

1. (A) - (). (B) - (II). (C) - (III). (D) - (IV)
2.(A)-(1). (B) - (). (C) - (II). (D) - (IV)
3.(A)- (D). (B) - (). (C) - (IV). (D) - (I1I)
4. (A) - (D). (B) - (I). (C) - (IV). (D) - (II)

Options :

68019117729. 1
68019117730. 2
68019117731. 3
68019117732. 4

Question Number : 59 Question Id : 6801914550 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s the decreasing order of approximate area in different states in India under
Taungya cultivaion?

(A). Tripura

(B).West Bengal

(C). Uttar Pradesh

(D). Maharashtra

Choose the correct answer from the options given below:

1. (A). (B). (C). (D).
2. (B). (C). (A). (D).
3.(B). (A). (D). (C).
4.(C). (B). (D). (A).

Options:
68019117733. 1

68019117734. 2



68019117735. 3
68019117736. 4

Question Number : 59 Question Id : 6801914550 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

ST Wl & dgd YRd & fafid gl O 31 &5 &1 gedl %9 o1 32
(a) BT

(B) UigH &Ta

(C) TR U

(D) TERTY

-t fau e fosed § O 9t IR I:

_(A). (B). (C). (D).

. (B). (C). (A). (D).

.(B). (A). (D). (C).

(C). (B). (D). (A).

|

e Taa

Options :

68019117733. 1
68019117734. 2
68019117735.3
68019117736. 4

Question Number : 60 Question Id : 6801914551 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange correct time of seed collection in different forest tree species starting from
January to December.

(A). Acacia catechu

(B). Acrocarpus fraxinifolius

(C). Ailanthus grandis

(D). Casuarina equisetifolia

Choose the eorrect answer from the options given below:

1. (A). (B). (C). (D).
2. (A). (C). (B). (D).
3.(B). (A). (D). (C).
4. (C). (B). (D). (A).
Options :
68019117737. 1
68019117738. 2
68019117739. 3

68019117740. 4

Question Number : 60 Question Id : 6801914551 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oiadl ¥ feder ao fafirs o1 &1 werniadl & disl 998 & Iei 99g ol
SFIPHT Y

(A) TSR B

(B) U IUY Whiqqpifeay

(C) Toyg UfsH

(D) YR S ufepIfermr

- fau e fdedl & 9§ |el S| 4

_(A). (B). (C). (D).
.(A). (C). (B). (D).
.(B). (A). (D). (C).
4. (C). (B). (D). (A).

g bd =

Options :

68019117737. 1
68019117738. 2
68019117739. 3

68019117740. 4



Question Number : 61 Question Id : 6801914552 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the tree with fleshy fruits
A. Teak and walnut

B. Anthocephala

C. Oak. Almond

D. Gmelina and Azadirachta

l.Aand B
2.A.Band C
3.Cand D
4.Band D

Options :

68019117741. 1
68019117742. 2
68019117743.3
68019117744. 4

Question Number : 61 Question Id : 6801914552 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
oigd Bl c1|_=5i 0S &l UgdH &Y
(A) GNTAH 3R 3RERIT

(B) TYINIIaTT

(C) 9<d. 9181™

(D) TTHICHT 3 3foTaTa T

1. %ad (A) 3R (B)
2. 44d (A), (B) 3R (C)
3. %dd (C) 3R (D)
4. %dd (B) 3R (D)

Options:

68019117741.1

68019117742. 2



68019117743. 3

68019117744. 4

Question Number : 62 Question Id : 6801914553 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following trees are not meant for pulpwood extraction?
A. Anthocephalus chinensis

B. Eucalyptus tereticornis

C. Populus spp.

D. Pithecellobium

1. Aand B only
2.BandD
3. Aonly
4. D only

Options:

68019117745. 1
68019117746. 2
68019117747. 3

68019117748. 4

Question Number : 62 Question Id : 6801914553 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Fofafad § 9 oH-3 Us el Hoen & o T2 8
(A) TUEDoY fa1ad

(B) gPIcipd ¥ChIHg

(C) GIgeTd gl

(D) foehge

1. %ad (A) AR (B)
2. %dd (B) 3R (D)
3.%ad (A)
4.%ad (D)

Options :




68019117745. 1
68019117746. 2
68019117747. 3

68019117748. 4

Question Number : 63 Question Id : 6801914554 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Arrange the states in the decreasing order of approximate area under forests in
India

(A).Madhya Pradesh

(B).Maharashtra

(C).Orissa

(D). Arunachal Pradesh

Choose the correct answer from the options given below:

.(A). (B). (C). (D).
_(A). (C). (B). (D).
.(B). (A). (D). (C).
.(C). (B). (D). (A).

fas b2 —

=,

Options:

68019117749. 1
68019117750. 2
68019117751.3

68019117752. 4

Question Number : 63 Question Id : 6801914554 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YRd ¥ g1 & IHIHA &3 & Sidild ued o4 § AUl B oaaieyd &
(A) Hed U

(B) HelRTY

(C) 3iifE=m

(D) SUMEA Wal

- feu Y fd@edl O 9§ |el SR 4

_(A). (B). (C). (D).
. (A). (C). (B). (D).
.(B). (A). (D). (C).
.(C). (B). (D). (A).

I =

F N

Options :

68019117749. 1
68019117750. 2
68019117751. 3

68019117752. 4

Question Number : 64 Question Id : 6801914555 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s the size of drawing sheet generally used in survey work ?

.56 x 56 cm
. 66 x 66 cm
.76 x 76 cm
. 76X 56 cm

Options:

I =

o )

68019117753. 1
68019117754. 2
68019117755. 3

68019117756. 4

Question Number : 64 Question Id : 6801914555 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



T IR TR TA&U 1 3 IYGI B! o arel! SI57 e 1 DR 1 6d1 87

.56 x 56 YHI
.66 x 66 JHI
.76 x 76 9HI
4,76 x 56 9HI

Options :

Jd =

L%

68019117753. 1
68019117754. 2
68019117755. 3

68019117756. 4

Question Number : 65 Question Id : 6801914556 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements about survey are correct?

(A). A leader: one who directs the work and records the measurements.
(B). A follower: one who holds handle of the chain at rear end.

(C). In close traverse survey a polygon 1s formed.

(D). In open traverse survey a polygon is not formed.

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
_(A). (B). (C) and (D).
4. (B). (C) and (D) only.

Laa

Options :

68019117757. 1
68019117758. 2
68019117759. 3

68019117760. 4

Question Number : 65 Question Id : 6801914556 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AU H IR T G MU Sy 8§ ¥ A Y T8l 82

(A) 7IdT - 8 Sl 1 BT e, 12 Bl & AR A9 &1 3ifded Bed1 gl
(B) HIaTd! : 98 &l Suik & sl DI (UDd 8R RIS Sl 6|

(C) e WoH JaeuT d Us 9gyel a9dl 6|

(D) Gl Fch HA&ul T Ueh G5 HS 8] aIcl 5 |

- fau Y fd@edl O 9§ |el SR 94

1. 5qd (A). (B) 3R (D)
2.%ad (A). (B) 3R (C)

3.(A). (B). (C) 3R (D)
4. %ad (B), (C) 3R (D)

Options:

68019117757. 1
68019117758. 2
68019117759. 3

68019117760. 4

Question Number : 66 Question Id : 6801914557 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements about forest classification are correct?

(A). Government owned forests in the state are under the control of central
government.

(B). Governemnt owned forests in Union Territories are under the control of
central government.

(C). The head of state forests department 1s designated as Chief Conservator of
Forests.

(D). National forest was one component in the classification as per National Forest
Policy 1952.

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
3. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

Options :
68019117761. 1
68019117762. 2

68019117763. 3



68019117764. 4

Question Number : 66 Question Id : 6801914557 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT TG H U MU HYH H 4 dH T TRl 2

(A) I H SR W ald a1 $g WHR & AT 8ld 8

(B) Bg MG Ue¥l & IRHR! WITd ald 94 $g WHR & AT 8d 8
(C) T & FAUTT & W &1 T30 9 WRed & =0 § T1fid a1 I g
(D) T g I 1052 & 3THR qFiie=ul H AP § U 9o Ul

- fau e foe O 9§ |el SR 4

1. %ad (A). (B) 3R (D)
2.%dd (A). (B) 3R (O)
3. (A). (B). (C) 3R (D)

4.%ad (B), (C) 3R (D)

Options :

68019117761. 1
68019117762. 2
68019117763.3

68019117764. 4

Question Number : 67 Question Id : 6801914558 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In India, how much per cent of land holdings are less than two ha?

.50
. 80
3.70
4. 60

Options :

|

68019117765. 1

68019117766. 2



68019117767. 3
68019117768. 4

Question Number : 67 Question Id : 6801914558 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

YRd # o1 wiaerad oid T <1 §aeaR 9 5H 82

1.90
2. 80
3.70
4. 60

Options :

68019117765. 1
68019117766. 2
68019117767. 3

68019117768. 4

Question Number : 68 Question Id : 6801914559 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements are correct?

(A). In shifting cultivation areas. the land 1s plentiful and labour is scarce.
(B). Taungya system involves mtensive use of land.

(C). In shifting cultivation areas, the land 1s limited and labour 1s plentiful.
(D). In shifting cultivation areas, both land and labour are plentiful.
Choose the correcr answer from the options given below:

. (A) and (B) only.
. (B) and (C) only.
.(B) and (D) only
4. (D) only.

o =

Taa

Options :
68019117769. 1

68019117770. 2



68019117771. 3

68019117772. 4

Question Number : 68 Question Id : 6801914559 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
frrm ey fIeH AT &
(A) BFART Welt aret &1 5, Y w=R O 8 8idt 8 SR 4ife] &1 o gl
gl
(B) THAT WuITell & YA &1 8- I9INT gial o
(C) TR Wl arel &1 5, Yf# IfFd gicll 8 3R 4iH® TR AT H 81
(D) TR Welt et &= § 4fH 3R %ffe SHi g=R O 4 81d 8
-4 fgu e fasedl O © |et IR I:
1. dd (A) AR (B)
2. %ad (B) AR (C)
3. %ad (B) 3R (D)
4.%dd (D)

Options :

68019117769. 1
68019117770. 2
68019117771.3

68019117772. 4

Question Number : 69 Question Id : 6801914560 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Arrange gases in sequence (Higher to lower) as per their content in environment at
or near to sea:

(A). Nitrogen

(B). Oxygen

(C). CO,

(D). Argon

Choose the correct answer from the options given below:

1. (A). (B). (C). (D).
2. (A), (B). (D). (C).
3. (D). (C). (A). (B).
4.(C). (D). (B). (A).

Options:

68019117773. 1
68019117774. 2
68019117775.3
68019117776. 4

Question Number : 69 Question Id : 6801914560 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

19} & Ugiarul & 71 94g & Hdhc 30! O & T9R 3o 9 9 o pa o
AT B

(A) FTEEIST

(B) HiRftor—

(C) CO,

(D) A

- fu e foseul O © gl SR I

1. (A). (B). (C). (D).
2. (A). (B). (D). (C).
3. (D). (C). (A). (B).
4.(C). (D). (B). (A).

Options :

68019117773. 1
68019117774. 2
68019117775. 3

68019117776. 4



Question Number : 70 Question Id : 6801914561 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The chief source of carbon mono oxide in the environment 1s

1. Open fires

2. Burning coal mines
3. Factories

4. Automobiles

Options :

68019117777. 1
68019117778. 2
68019117779.3

68019117780. 4

Question Number : 70 Question Id : 6801914561 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
iaR T § SIa AHIRIES T 5 Hid © -

1. Ga & ST
z.ﬁﬂﬁ;ﬁ@qlrﬁﬁmmrﬂ
3. C

4, HIeIHN

Options :

68019117777.1
68019117778. 2
68019117779. 3

68019117780. 4

Question Number : 71 Question Id : 6801914562 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

International Agreement on Convention on Biological Diversity was enacted in
which year ?

1992
4908
. 2006
4. 2011

Options :

fag B2 —

68019117781. 1
68019117782. 2
68019117783. 3

68019117784. 4

Question Number : 71 Question Id : 6801914562 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
wifdes fafdedr R Siariyra Swiidr fod gy rp foar mar up

. 1992
. 1998
. 2006
4, 2011

Options:

fas b2 —

68019117781.1
68019117782. 2
68019117783. 3

68019117784. 4

Question Number : 72 Question Id : 6801914563 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements regarding pests of forest are correct?
(A). Sap feeder insects prdominantly belong to order hemiptera.

(B). Cicadas and Psyllids are sap sucking pests.

(C). In most cases sap feeders lead to tree death.

(D). Bacillus thuringiensis is the dominant agent against defoliators.
Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
3. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

Options :

68019117785. 1
68019117786. 2
68019117787.3

68019117788. 4

Question Number : 72 Question Id : 6801914563 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

ST & icl & R § [GU MU HYA H 4 HH 9 Tl o7

(A) UU BIS BIc T T I gHIPR a¥ J Hafdd g |

(B) FH®TS1 IR WIZfers 39 9 I Bie 5|

(C) STETaR HrHdl § 99 BIs US &1 Hid &1 HRUI §-d ¢ |

(D) S YRR fSwiftued & o wgE teie B
- fau e ool § 9§ |el SR I

1. ®dd (A). (B) 3R (D)

2.%ad (A). (B) 3R (C)
3.(A). (B). (C) R (D)
4.%ad (B), (C) 3R (D)

Options :

68019117785. 1
68019117786. 2
68019117787. 3

68019117788. 4



Question Number : 73 Question Id : 6801914564 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements are correct?

(A). Hymenopteran and dipteran parasitoids are enemies for lapidopterean.
(B). Some parasitoids directly predate their hosts.

(C). Parasitoids lay their eggs inside to their host.

(D). Carabid beetles and spiders are predators.

Choose the eorrecr answer trom the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
3. (A). (B). (C) and (D).
4.(B). (C) and (D) only.

o

Options:

68019117789. 1
68019117790. 2
68019117791.3

68019117792. 4

Question Number : 73 Question Id : 6801914564 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
frmeEif eI TS &

(A) BTEEAIDRA 3R fEPRA Woidl AfUSPia & gea g g
(B) T WRuld] ST HoaHI 1 Ud& =9 J Y& Hd 6|
(C) TRidl 30 BHoaH & 3Hex 348 Sd 8

(D) PRIES Y71 3R Apla RH& gId 1

- fau 7T fosedl O 9 98t SR -

1. %4d (A), (B) 3R (D)
2.%ad (A). (B) 3R (C)
3. (A). (B). (C) 3R (D)

4. %4d (B). (C) 3R (D)

Options :
68019117789. 1

68019117790. 2



68019117791. 3
68019117792. 4

Question Number : 74 Question Id : 6801914565 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements about Insect Associated Diseases are correct?
(A). Bark beetles are known to carry fungi that impart blue stain to the sapwood of
infested trees.

(B). Bark beetles species of Ophiostoma and Ceratocystis impart substantial
damage to timber products.

(C). After the insects infestation. the sapwood typically becomes severely
discolored which is called blue stain.

(D). European spruce bark beetle Ips typographus. is not pathogenic and does
harm the tree.

Choose the correct answer from the options given below:

(B) and (D) only.
(B) and (C) only.
(B). (C) and (D).
(C) and (D) only.

A).
A).
A).
B).
Options :

68019117793. 1
68019117794. 2
68019117795. 3

68019117796. 4

Question Number : 74 Question Id : 6801914565 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. 3ad (A), (B) 3R (D)
2. %ad (A). (B) 3R (C)
3. (A). (B). (C) 3IR (D)

4.%ad (B), (C) 3R (D)

Options:

68019117793. 1
68019117794. 2
68019117795. 3
68019117796. 4

Question Number : 75 Question Id : 6801914566 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII

(Disease) (Causal organism)

Dutch elm disease| I |Cerarocystis fagacearim

Chestnut blight II. |Ophiostoma ulmi

White pine blister | IIL. |Cryphoneciria parasitica

ofo[w[w

Oak wilt IV, |Cronartium ribicola

Choose the correct answer from the options given below:

1. (A) - (). (B) - (II). (C) - (III). (D) - (IV)
2. (A) - (ID. (B) - (1II). (C) - (IV). (D) - (I)
3.(A) - (I). (B) - (I). (C) - (IV). (D) - (II)
4. (A) - (III). (B) - (IV). (C) - (D). (D) - (II)

Options :



68019117797.1
68019117798. 2
68019117799. 3

68019117800. 4

Question Number : 75 Question Id : 6801914566 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

g1 151 gt 11 ¥ [HaE $ifern
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1. (A) - (I). (B) - (1I). (C) - (III). (D) - (IV)
2. (A) - (II). (B) - (IIT). (C) - (IV). (D) - (I)
3. (A) - ). (B) - (I). (C) - (IV). (D) - (III)
4. (A) - (II1). (B) - (IV). (C) - (I). (D) - (II)

Options :

68019117797. 1
68019117798. 2
68019117799. 3

68019117800. 4



